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Simple interest

(साधारण ब्याज)

Concept Lecture – 4



Sudeep invested 𝟏/𝟖 of a certain sum at

𝟓% p.a. and 𝟑/𝟓 of the sum at 𝟔% p.a.

and the remaining at 𝟏𝟎% p.a. for two

years. If the total interest received is

𝑹𝒔. 𝟏, 𝟔𝟕𝟒, then the total sum invested is:
सुदीप ने एक ननश्चित राशि का 𝟏/𝟖 भाग 𝟓%

वार्षिक ब्याज दर पर और उसी धनराशि का 𝟑/𝟓
भाग 𝟔% वार्षिक ब्याज दर पर और िषे धनराशि
को 𝟏𝟎% वार्षिक ब्याज पर 𝟐 वषि के शिए ननवेि
ककया| यदद प्राप्त होने वािा कुि ब्याज 𝟏𝟔𝟕𝟒

रूपये है, तो ननवेि की गई कुि धनराशि ककतनी
है?
a) 𝑹𝒔. 𝟏𝟎, 𝟓𝟎𝟎 b) 𝑹𝒔. 𝟐𝟒, 𝟎𝟎𝟎

c) 𝑹𝒔. 𝟏𝟐, 𝟎𝟎𝟎 d) 𝑹𝒔. 𝟏𝟑, 𝟎𝟎𝟎
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A person invested 𝟐/𝟑𝐫𝐝 of his capital at 𝟏𝟐%

simple interest per annum, 𝟏/𝟒th at 𝟏𝟓%

simple interest per annum and the balance at

𝟏𝟖% simple interest per annum. If he earns an

interest of 𝑹𝒔. 𝟏𝟗𝟔𝟏 on the whole in two

years, what was the person’s capital

एक व्यश्तत ने अपने प ूंजी का 𝟐/𝟑 भाग 𝟏𝟐%

साधारण ब्याज प्रनत वषि 𝟏/𝟒 भाग 𝟏𝟓%

साधारण ब्याज प्रनत वषि की दर और िषे 𝟏𝟖%

साधारण ब्याज प्रनत वषि से ननवेि ककया अगर
वह कुि शििाकर दो वषीं िें 𝟏𝟗𝟔𝟏 रूपये का
ब्याज किाता है| तो व्यश्तत की प ूंजी तया थी?
a) 𝟕𝟒𝟎𝟎 b) 𝟕𝟓𝟎𝟎 c) 𝟖𝟔𝟎𝟎 d) 𝟕𝟎𝟎𝟎
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A person invested a sum of 𝟏𝟎, 𝟓𝟎𝟎 at 𝒙% per

annum at simple interest and a sum of

𝟏𝟑, 𝟓𝟎𝟎 at 𝒙 + 𝟐 % p.a. at simple interest. If

the total interest earned on both the

investment for 𝟑 years is 𝟕, 𝟔𝟓𝟎, then the rate

of interest on the second investments:

एक व्यश्तत ने 𝟏𝟎, 𝟓𝟎𝟎 की धनराशि 𝒙%

वार्षिक साधारण ब्याज दर पर और 𝟏𝟑, 𝟓𝟎𝟎

की धनराशि 𝒙 + 𝟐 % वार्षिक साधारण ब्याज
दर पर ननवेि की| यदद दोनों ननवेिों पर 𝟑

वषीं िें अश्जित कुि ब्याज 𝟕, 𝟔𝟓𝟎 है, तो
दसुरे ननवेि पर ब्याज की दर ज्ञात कीश्जए|
a) 𝟖% b) 𝟗. 𝟓% c) 𝟗% d) 𝟏𝟏. 𝟓%

4
SI (GP)  



A person invested a sum of 𝑹𝒔. 𝟏𝟖, 𝟔𝟎𝟎 at 𝒙% p.a.

and another sum that is twice the former at

𝒙 + 𝟐 % p.a., both at simple interest. If the total

interest earned on both investments for 𝟑
𝟏

𝟐
years is

𝟐𝟑, 𝟏𝟏𝟎. 𝟓𝟎, then the rate of interest p.a. on the

second investment is:

एक व्यश्तत ने 𝟏𝟖𝟔𝟎𝟎 की एक धनराशि को 𝒙%

वार्षिक साधारण ब्याज दर पर ननवेि ककया और पहिी
धनराशि से दोगुनी धनराशि को 𝒙 + 𝟐 % वार्षिक
साधारण ब्याज दर पर ननवेि ककया| यदद दोनों ननवेिों
पर 𝟑

𝟏

𝟐
वषि िें अश्जित कुि ब्याज 𝟐𝟑, 𝟏𝟏𝟎. 𝟓𝟎 है, तो

दसुरे ननवेि पर ब्याज की वार्षिक दर ककतनी है?
a) 𝟏𝟏% b) 𝟏𝟎. 𝟓% c) 𝟏𝟑% d) 𝟏𝟐. 𝟓%
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The simple interest on a sum of money will be
Rs.𝟔𝟎𝟎 after 𝟏𝟎 years. If the principal is trebled
after 5 years, what will be the total interest at
the end of the tenth year.
ककसी धनराशि का 𝟏𝟎 वषों िें 𝟔𝟎𝟎 रूपये
साधारण ब्याज होगा I यदद धनराशि को 𝟓 वषि
बाद पहिे की तुिना िें तीन गुणा कर ददया
जाए तो 𝟏𝟎 साि का कुि ब्याज ककतना होगा ?
a) Rs.𝟏𝟐𝟎𝟎 b) Rs.𝟏𝟏𝟗𝟎
c) Rs.𝟏𝟐𝟏𝟎 d) None of these
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Rs.𝟏𝟎𝟎𝟎 is invested at 𝟓% per annum
simple interest. If the interest is added to
the principle after every 𝟏𝟎 years, the
amount will become Rs.𝟐𝟎𝟎𝟎 after
𝟏𝟎𝟎𝟎 रु प्रनतवषि 𝟓% की दर से साधारण
ब्याज िें ननवेि ककया जाता है। यदद ब्याज
को प्रत्येक 𝟏𝟎 वषों के बाद ि िधन िें जोडा
जाता है, तो राशि 𝟐𝟎𝟎𝟎 रु ककतने वषों िें हो
जाएगी?
a) 𝟏𝟓 years b) 𝟏𝟖 years

c) 𝟐𝟎 years d) 𝟏𝟔
𝟐

𝟑
years
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If 𝒙, 𝒚, 𝒛 are three sums of money such that
𝒚 is the simple interest on 𝒙 𝒂𝒏𝒅 𝒛 is the
simple interest on 𝒚 for the same time and
same rate of interest, then we have
यदद 𝒙, 𝒚, 𝒛 तीन प्रकार के धन हैं जैसे कक
एक ही सिय के शिए और एक ही ब्याज दर
पर 𝒚, 𝒙 पर साधारण ब्याज है और 𝒛, 𝒚 पर
साधारण ब्याज है, तो हिारे पास है:
a) 𝒛𝟐 = 𝒙𝒚 b) 𝒙𝒚𝒛 = 𝟏
c) 𝒙𝟐 = 𝒚𝒛 d) 𝒚𝟐 = 𝒛𝒙
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A money lender claims to lend money at the

rate of 𝟏𝟎% per annum simple interest.

However, he takes the interest in advance when

he lends a sum for year. At what interest rate

does he lend the money actually?

एक साह कार 𝟏𝟎 प्रनतित प्रनतवषि साधारण ब्याज
की दर से धन उधार देता है| हािाूंकक, यदद वह
एक वषि के शिए धन उधार देता है, तो ब्याज
अग्रिि रुप से िेता है| वास्तव िें वह ककतने
ब्याज दर पर उधार देता है?
a) 𝟏𝟎% b) 𝟏𝟎

𝟏

𝟗
% c) 𝟗

𝟏

𝟏𝟏
% d) 𝟏𝟏

𝟏

𝟗
%
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Arya and Sonu invested 𝑹𝒔. 𝟓𝟒𝟎𝟎 and

𝑹𝒔. 𝟕𝟐𝟎𝟎 for 𝟒 years and 𝟑 years

respectively. It the total simple interest

received by both of them is 𝑹𝒔. 𝟔𝟗𝟏𝟐 and the

rate charged by them is in the ratio of 𝟑 ∶ 𝟓.

At what rate did Arya invest the money?

आयि, 𝟓𝟒𝟎𝟎 रु को 𝟒 साि के शिए और सोन ,
𝟕, 𝟐𝟎𝟎 रु को 𝟑 साि के शिए ननवेि करता
है| यदद दोनों का साधारण ब्याज 𝟔𝟗𝟏𝟐 रु
प्राप्त होती है और दोनों की दर का अनपुात
𝟑 ∶ 𝟓 तो आयि ने अपनी राशि को ककस दर
पर ननवेि ककया था?
a) 𝟗% b) 𝟏𝟐% c) 𝟏𝟎. 𝟓% d) 𝟐𝟎%
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A person borrowed a sum at 𝟔% per annum

and returned 𝑹𝒔. 𝟖𝟒𝟎𝟎 after 𝟏 year. Now the

rate of interest is 𝟓% per annum on the rest

of the amount. If the interest of second year

is 𝟏𝟑/𝟐𝟎 of first year S.I. What amount was

borrowed?

कोई धन 𝟔% की दर पर उधार शिया गया| 𝟏
साि के बाद 𝟖𝟒𝟎𝟎 रु. वापस कर ददये| और
अब जो भी धन राशि बिी है, उस पर 𝟓%

के दहसाब से ब्याज देना होगा| द सरे साि का
जो ब्याज है वो पहिे साि के ब्याज का
𝟏𝟑/𝟐𝟎 है| ककतनी राशि उधार िी गयी थी?
a) 𝟑𝟐𝟎𝟎𝟎𝑹𝒔. b) 𝟐𝟖𝟎𝟎𝟎𝑹𝒔.

c) 𝟑𝟎𝟎𝟎𝟎𝑹𝒔. d) 𝟑𝟏𝟐𝟓𝟎𝑹𝒔.
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A sum of 𝑹𝒔. 𝟏𝟒𝟎𝟎𝟎 is lent out in two parts in

such a way that first part is given at 𝟓% per

annum and second part at 𝟖% per annum. If

the simple interest received on sum given at

𝟓% is 𝑹𝒔. 𝟗𝟐. 𝟐𝟓 more than the simple interest

on sum given at 𝟖% in one year. Find the sum

lend at 𝟖% per annum?

𝟏𝟒𝟎𝟎𝟎 रुपये की धनराशि को दो भागों िें इस
प्रकार बाूंटा गया है कक पहिे भाग पर 𝟓%

वार्षिक साधारण व्याज की दर और द सरे भाग
पर 𝟖% वार्षिक साधारण व्याज की दर से ब्याज
शििता है एक वषि के बाद 𝟓%कक दरवािे भाग
पर प्राप्त ब्याज, 𝟖% की दर वािे भाग पर
प्राप्त ब्याज से 𝟗𝟐. 𝟐𝟓 रुपए अग्रधक है तब 𝟖%

वार्षिक दरवािा भाग ककतन था?
a) 𝑹𝒔. 𝟒𝟔𝟕𝟓 b) 𝑹𝒔. 𝟓𝟏𝟐𝟓

c) 𝑹𝒔. 𝟒𝟒𝟓𝟎 d) 𝑹𝒔. 𝟒𝟐𝟔𝟓
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A man takes a loan of some amount at some rate of

simple interest. After three years, the loan amount is

doubled and rate of interest is decreased by 𝟐%. After 𝟓

more years, if the total interest paid on the whole is

𝑹𝒔. 𝟏𝟑, 𝟔𝟎𝟎, which is equal to the same when the first

amount was taken for 𝟏𝟏
𝟏

𝟑
years, then the loan taken

initially is:

एक व्यश्तत साधारण ब्याज की ककसी दर पर एक ननचित
धनराशि ऋण के रूप िें िेता है| तीन वषीं के बाद, ऋण
की धनराशि दोगुनी ओर ब्याज दर 𝟐% कि हो जाती है|
अब से 𝟓 वषीं के बाद, यदद प री धनराशि पर ददया गया
कुि ब्याज 𝑹𝒔. 𝟏𝟑, 𝟔𝟎𝟎 है, जो उस पहिी धनराशि के
ब्याज के बराबर है जो 𝟏𝟏 𝟏

𝟑
वषीं के शिए ऋण के रूप िें

िी गई थी, तो शिए गए आरूंशभक ऋण की राशि कीश्जए|
a) 𝑹𝒔. 𝟏𝟑, 𝟔𝟎𝟎 b) 𝑹𝒔. 𝟏𝟐, 𝟓𝟎𝟎

c) 𝑹𝒔. 𝟏𝟎, 𝟎𝟎𝟎 d) 𝑹𝒔. 𝟏𝟐, 𝟎𝟎𝟎
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